UppaunoHanbHble
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[logrotosneHo: BasHmnkoBon EkaTtepumnHon,
yyeHunuen 10 knacca.

2009 roa



3aMeHa ypaBHeHUs1 CUCTEeMOM
Jx+3+~/x+8 =5

VX 4+3 = —>u? =x+3

VJx+8 =v—=>v? =x+8

[z +v =5

v —u® =5

u+v =5

-_v—uzl

2v =6
v=3=—=>/x+8=3—=>x=1
ITposepra : 1+ 3 +/1+ 8 =

Omeaent : x =1




Mcnonb3oBaHue conpsXeHHOro BblpaXeHus

Jx+3 +x+8 =
(Vx+3) (m) = 5(Vx+3-vx+8)

—5—5(x+3 x+8)

x+3-+/x+8=-1
M+mz5
2Wx+3 =
Jx+3=2
x+3=4

x=1

IIposepka N1+ 3 +~/1+8 =5

Omeem - x =1



Bo3BegeHue B KBagpart nnum B KyO

m_l_mzs (a+b) =a*+2ab+b’

(a er)3 —a’+b’ +3ab(a +b)

X434+ 20x+3/x+8+x+8=25

2\/(x+3)(x+8) = 2(7—x)

x° +11x+24=49—-14x+x
25x =23

x=1

[Iposepka . VI+3++/1+8 = S(u)

Omeem : x =1




